
                                              Solution Problem No.4 (LONG VERSION) 

                           
𝑥1 = 𝑥 + 𝐿𝑠𝑖𝑛 𝜃1 − 𝐿𝑠𝑖𝑛(𝜃3)

𝑥2 = 𝑥 + 𝐿𝑠𝑖𝑛 𝜃2 − 𝐿𝑠𝑖𝑛(𝜃3)
𝑥3 = 𝑥

                                           
𝑦1 = 𝑦 + 𝐿𝑐𝑜𝑠 𝜃1 − 𝐿𝑐𝑜𝑠(𝜃3)

𝑦2 = 𝑦 + 𝐿𝑐𝑜𝑠 𝜃2 − 𝐿𝑐𝑜𝑠(𝜃3)
𝑦3 = 𝑦

  

                             
𝑥 1 = 𝑥 + 𝐿𝜃 1𝑐𝑜𝑠 𝜃1 − 𝐿𝜃 3𝑐𝑜𝑠 𝜃3 

𝑥 2 = 𝑥 + 𝐿𝜃 2𝑐𝑜𝑠 𝜃2 − 𝐿𝜃 3𝑐𝑜𝑠 𝜃3 
𝑥 3 = 𝑥 

                                  
𝑦 1 = 𝑦 − 𝐿𝜃 1𝑠𝑖𝑛 𝜃1 + 𝐿𝜃 3𝑠𝑖𝑛 𝜃3 

𝑦 2 = 𝑦 − 𝐿𝜃 2𝑠𝑖𝑛 𝜃2 + 𝐿𝜃 3𝑠𝑖𝑛 𝜃3 

𝑦 3 = 𝑦 

  

 

  

𝑥 1
2 = 𝑥 2 + 𝐿2𝜃 1

2𝑐𝑜𝑠2 𝜃1 + 𝐿2𝜃 3
2𝑐𝑜𝑠2 𝜃3 + 2𝐿𝑥 𝜃 1𝑐𝑜𝑠 𝜃1 − 2𝐿𝑥 𝜃 3𝑐𝑜𝑠 𝜃3 − 2𝐿2𝜃 1𝜃 3𝑐𝑜𝑠 𝜃1 𝑐𝑜𝑠 𝜃3  

𝑥 2
2 = 𝑥 2 + 𝐿2𝜃 2

2𝑐𝑜𝑠2 𝜃2 + 𝐿2𝜃 3
2𝑐𝑜𝑠2 𝜃3 + 2𝐿𝑥 𝜃 2𝑐𝑜𝑠 𝜃2 − 2𝐿𝑥 𝜃 3𝑐𝑜𝑠 𝜃3 − 2𝐿2𝜃 2𝜃 3𝑐𝑜𝑠 𝜃2 𝑐𝑜𝑠 𝜃3 

𝑥 3
2 = 𝑥 2

  

  

𝑦 1
2 = 𝑦 2 + 𝐿2𝜃 1

2𝑠𝑖𝑛2 𝜃1 + 𝐿2𝜃 3
2𝑠𝑖𝑛2 𝜃3 + 2𝐿𝑦 𝜃 3𝑠𝑖𝑛 𝜃3 − 2𝐿𝑦 𝜃 1𝑠𝑖𝑛 𝜃1 − 2𝐿2𝜃 1𝜃 3𝑠𝑖𝑛 𝜃1 𝑠𝑖𝑛 𝜃3  

𝑦 2
2 = 𝑦 2 + 𝐿2𝜃 2

2𝑠𝑖𝑛2 𝜃2 + 𝐿2𝜃 3
2𝑠𝑖𝑛2 𝜃3 + 2𝐿𝑦 𝜃 3𝑠𝑖𝑛 𝜃3 − 2𝐿𝑦 𝜃 2𝑠𝑖𝑛 𝜃2 − 2𝐿2𝜃 2𝜃 3𝑠𝑖𝑛 𝜃2 𝑠𝑖𝑛 𝜃3 

𝑦 3
2 = 𝑦 2

  

                                        
𝑥 1 = 𝑥 + 𝐿𝜃1

 𝑐𝑜𝑠 𝜃1 − 𝐿𝜃1
 2𝑠𝑖𝑛 𝜃1 − 𝐿𝜃3

 𝑐𝑜𝑠 𝜃3 + 𝐿𝜃3
 2
𝑠𝑖𝑛 𝜃3 

𝑥 2 = 𝑥 + 𝐿𝜃2
 𝑐𝑜𝑠 𝜃2 − 𝐿𝜃2

 2
𝑠𝑖𝑛 𝜃2 − 𝐿𝜃3

 𝑐𝑜𝑠 𝜃3 + 𝐿𝜃3
 2
𝑠𝑖𝑛 𝜃3 

𝑥 3 = 𝑥 

  

                                         
𝑦 1 = 𝑦 − 𝐿𝜃1

 𝑠𝑖𝑛 𝜃1 − 𝐿𝜃1
 2𝑐𝑜𝑠 𝜃1 + 𝐿𝜃3

 𝑠𝑖𝑛 𝜃3 + 𝐿𝜃3
 2
𝑐𝑜𝑠 𝜃3 

𝑦 2 = 𝑦 − 𝐿𝜃2
 𝑠𝑖𝑛 𝜃2 − 𝐿𝜃2

 2
𝑐𝑜𝑠 𝜃2 + 𝐿𝜃3

 𝑠𝑖𝑛 𝜃3 + 𝐿𝜃3
 2
𝑐𝑜𝑠 𝜃3 

𝑦 3 = 𝑦 

  

                                                                                       𝑻𝒊 =
𝟏

𝟐
𝒎𝒊(𝒙 𝒊

𝟐 + 𝒚 𝒊
𝟐)  

 

 
 
 

 
 𝑇1 =

1

2
𝑚[𝑥 2 + 𝑦 2 + 𝐿2𝜃 1

2 + 𝐿2𝜃 3
2 + 2𝐿𝑥 𝜃 1𝑐𝑜𝑠 𝜃1 − 2𝐿𝑥 𝜃 3𝑐𝑜𝑠 𝜃3 + 2𝐿𝑦 𝜃 3𝑠𝑖𝑛 𝜃3 − 2𝐿𝑦 𝜃 1𝑠𝑖𝑛 𝜃1 − 2𝐿2𝜃 1𝜃 3𝑐𝑜𝑠 𝜃3 − 𝜃1 ]

𝑇2 =
1

2
2𝑚[𝑥 2 + 𝑦 2 + 𝐿2𝜃 2

2 + 𝐿2𝜃 3
2 + 2𝐿𝑥 𝜃 2𝑐𝑜𝑠 𝜃2 − 2𝐿𝑥 𝜃 3𝑐𝑜𝑠 𝜃3 + 2𝐿𝑦 𝜃 3𝑠𝑖𝑛 𝜃3 − 2𝐿𝑦 𝜃 2𝑠𝑖𝑛 𝜃2 − 2𝐿2𝜃 2𝜃 3𝑐𝑜𝑠 𝜃3 − 𝜃2 ]

𝑇3 =
1

2
3𝑚[𝑥 2 + 𝑦 2]

  

 𝑻𝒊
 𝒊=𝟑
 𝒊=𝟏 =

𝟏

𝟐
𝒎 𝟔𝒙 𝟐 + 𝟔𝒚 𝟐 + 𝑳𝟐 𝜽 𝟏

𝟐 + 𝟐𝜽 𝟐
𝟐 + 𝟑𝜽 𝟑

𝟐 + 𝟐𝑳𝒙  𝜽 𝟏𝒄𝒐𝒔 𝜽𝟏 + 𝟐𝜽 𝟐𝒄𝒐𝒔 𝜽𝟐 − 𝟑𝜽 𝟑𝒄𝒐𝒔 𝜽𝟑  + 𝟐𝑳𝒚  −𝜽 𝟏𝒔𝒊𝒏 𝜽𝟏 −

𝟐𝜽 𝟐𝒔𝒊𝒏 𝜽𝟐 + 𝟑𝜽 𝟑𝒔𝒊𝒏 𝜽𝟑  − 𝟐𝑳𝟐 𝜽 𝟏𝜽 𝟑𝒄𝒐𝒔 𝜽𝟑 −𝜽𝟏 + 𝟐𝜽 𝟐𝜽 𝟑𝒄𝒐𝒔 𝜽𝟑 − 𝜽𝟐     

  
𝜕  𝑇𝑖

𝑖=3
𝑖=1

𝜕𝑥 
 =

1

2
𝑚 12𝑥 + 2𝐿 𝜃 1𝑐𝑜𝑠 𝜃1 + 2𝜃 2𝑐𝑜𝑠 𝜃2 − 3𝜃 3𝑐𝑜𝑠 𝜃3    

  
𝜕  𝑇𝑖

𝑖=3
𝑖=1

𝜕𝑦 
 =

1

2
𝑚 12𝑦 + 2𝐿 −𝜃 1𝑠𝑖𝑛 𝜃1 − 2𝜃 2𝑠𝑖𝑛 𝜃2 + 3𝜃 3𝑠𝑖𝑛 𝜃3    

  
𝜕  𝑇𝑖

𝑖=3
𝑖=1

𝜕𝜃 1
 =

1

2
𝑚 2𝐿2𝜃 1 + 2𝐿𝑥 𝑐𝑜𝑠 𝜃1 − 2𝐿𝑦 𝑠𝑖𝑛 𝜃1 − 2𝐿2𝜃 3𝑐𝑜𝑠 𝜃3 − 𝜃1   

  
𝜕  𝑇𝑖

𝑖=3
𝑖=1

𝜕𝜃 2
 =

1

2
𝑚 4𝐿2𝜃 2 + 4𝐿𝑥 𝑐𝑜𝑠 𝜃2 − 4𝐿𝑦 𝑠𝑖𝑛 𝜃2 − 4𝐿2𝜃 3𝑐𝑜𝑠 𝜃3 − 𝜃2   

  
𝜕  𝑇𝑖

𝑖=3
𝑖=1

𝜕𝜃 3
 =

1

2
𝑚 6𝐿2𝜃 3 − 6𝐿𝑥 𝑐𝑜𝑠 𝜃3 + 6𝐿𝑦 𝑠𝑖𝑛 𝜃3 − 2𝐿2 𝜃 1𝑐𝑜𝑠 𝜃3 − 𝜃1 + 2𝜃 2𝑐𝑜𝑠 𝜃3 − 𝜃2    

                                                    

 

 



  
𝒅

𝒅𝒕
 
𝝏 𝑻𝒊

𝒊=𝟑
𝒊=𝟏

𝝏𝒒 𝒊
 = 𝟎          𝑞 𝑖 = 𝑞 𝑖(𝑥 , 𝑦 , 𝜃 1 , 𝜃 2 , 𝜃 3) 

 
𝑑

𝑑𝑡
 
𝜕  𝑇𝑖

𝑖=3
𝑖=1

𝜕𝑥 
 =

1

2
𝑚 12𝑥 + 2𝐿  𝜃1

 𝑐𝑜𝑠 𝜃1 − 𝜃1
 2𝑠𝑖𝑛 𝜃1 + 2𝜃2

 𝑐𝑜𝑠 𝜃2 − 2𝜃2
 2
𝑠𝑖𝑛 𝜃2 − 3𝜃3

 𝑐𝑜𝑠 𝜃3 + 3𝜃3
 2
𝑠𝑖𝑛 𝜃3   = 0 

 
𝑑

𝑑𝑡
 
𝜕  𝑇𝑖

𝑖=3
𝑖=1

𝜕𝑦 
 =

1

2
𝑚 12𝑦 + 2𝐿  −𝜃1

 𝑠𝑖𝑛 𝜃1 − 𝜃1
 2𝑐𝑜𝑠 𝜃1 − 2𝜃2

 𝑠𝑖𝑛 𝜃2 − 2𝜃2
 2
𝑐𝑜𝑠 𝜃2 + 3𝜃3

 𝑠𝑖𝑛 𝜃3 + 3𝜃3
 2
𝑐𝑜𝑠 𝜃3   = 0 

 
𝑑

𝑑𝑡
 
𝜕  𝑇𝑖

𝑖=3
𝑖=1

𝜕𝜃 1
 =

1

2
𝑚 2𝐿2𝜃1

 − 2𝐿2𝜃3
 𝑐𝑜𝑠 𝜃3 − 𝜃1 + 2𝐿2𝜃3

  𝜃3
 − 𝜃1

  𝑠𝑖𝑛 𝜃3 − 𝜃1 + 2𝐿𝑥 𝑐𝑜𝑠 𝜃1 − 2𝐿𝑥 𝜃 1𝑠𝑖𝑛 𝜃1 −

2𝐿𝑦 𝑠𝑖𝑛 𝜃1 − 2𝐿𝑦 𝜃 1𝑐𝑜𝑠 𝜃1  = 0 

   
𝑑

𝑑𝑡
 
𝜕  𝑇𝑖

𝑖=3
𝑖=1

𝜕𝜃 2
 =

1

2
𝑚 4𝐿2𝜃2

 + 4𝐿𝑥 𝑐𝑜𝑠 𝜃2 − 4𝐿𝑥 𝜃2
 𝑠𝑖𝑛 𝜃2 − 4𝐿𝑦 𝑠𝑖𝑛 𝜃2 − 4𝐿𝑦 𝜃2

 𝑐𝑜𝑠 𝜃2 − 4𝐿2𝜃3
 𝑐𝑜𝑠 𝜃3 − 𝜃2 +

4𝐿2𝜃3
  𝜃3

 − 𝜃2
  𝑠𝑖𝑛 𝜃3 − 𝜃2  = 0 

 
𝑑

𝑑𝑡
 
𝜕  𝑇𝑖

𝑖=3
𝑖=1

𝜕𝜃 3
 =

1

2
𝑚 6𝐿2𝜃3

 − 6𝐿𝑥 𝑐𝑜𝑠 𝜃3 + 6𝐿𝑥 𝜃 3𝑠𝑖𝑛 𝜃3 + 6𝐿𝑦 𝑠𝑖𝑛 𝜃3 + 6𝐿𝑦 𝜃3
 𝑐𝑜𝑠 𝜃3 − 4𝐿2𝜃2

 𝑐𝑜𝑠 𝜃3 − 𝜃2 +

4𝐿2𝜃 2 𝜃3
 − 𝜃2

  𝑠𝑖𝑛 𝜃3 − 𝜃2 − 2𝐿2𝜃1
 𝑐𝑜𝑠 𝜃3 − 𝜃1 + 2𝐿2𝜃 1(𝜃3

 − 𝜃1
 )𝑠𝑖𝑛 𝜃3 − 𝜃1  = 0 

         Initial constraints:                     𝜃1 →
𝜋

6
;              𝜃2 →

5𝜋

6
;            𝜃3 →

3𝜋

2
; 

        

 
 
 

 
 𝑥 1 = 𝑥 +

 3

2
𝐿𝜃 1 = 0

𝑥 2 = 𝑥 −
 3

2
𝐿𝜃 2 = 0

𝑥 3 = 𝑥 = 0

      and     

𝑦 1 = 𝑦 −
1

2
𝐿𝜃 1 − 𝐿𝜃 3 = 0

𝑦 2 = 𝑦 +
1

2
𝐿𝜃 2 − 𝐿𝜃 3 = 0

𝑦 3 = 𝑦 = 𝑣0

           𝑦3 = 𝑦 = 0 

          

 
 
 

 
 12𝑥 +  3𝐿𝜃1

 − 2 3𝐿𝜃2
 − 6𝐿𝜃3

 2
= 0

−𝐿𝜃1
 − 2𝐿𝜃2

 − 6𝐿𝜃3
 = 0

 3𝐿𝑥 + 2𝐿2𝜃1
 + 𝐿2𝜃3

 −  3𝐿2𝜃3
 2

= 0

−2 3𝐿𝑥 + 4𝐿2𝜃2
 + 2𝐿2𝜃3

 + 2 3𝐿2𝜃3
 2

= 0

   

 
  
 

  
 𝑥 =

2

11

𝑣0
2

𝐿

𝜃1
 =

4 3

11

𝑣0
2

𝐿2

𝜃2
 = −

5 3

11

𝑣0
2

𝐿2

𝜃3
 =

 3

11

𝑣0
2

𝐿2

     

        𝒂𝒊 =  𝒙 𝒊
𝟐 + 𝒚 𝒊

𝟐         

 
 
 

 
 𝑎1 =

6

11

𝑣0
2

𝐿

𝑎2 =
3

11

𝑣0
2

𝐿

𝑎3 =
2

11

𝑣0
2

𝐿

  

 

                                                                                                                                                                                              By Papimeri Dumitru 

                                                                                                                                                                                                Republic of Moldova 

                                                                                                                           


